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5188 (1) |[#EREHBEHS ERETERENRE 4H88 (A) 48198 (£)| 2,900, 1,900 -1 1,600 -1 1,300
58268 (A) |[#EREHBEHS BEREENIRTE 4H88 (A) 48268 (&) -1 2,200 -1 1,700 -1 1,400
6818 () |BXREZBREHE ERREBERERTE 48158 (R) 48208 (%) =15 | 5,500 4,900 3,900
68168 (A) |BXREFRIBERE BREFRIRTE 48168 (k) 4A208 (%) - - -| 3,500 2,500 2,500
68168 (A) |BAEEHEEREHS HWEESHERTE 48228 (R) 48268 (&) - - -1 3,500 3,000 2,500
68228 (1) |BABERTEHES ERMERRERTE 48228 (R) 5171 &) =15 | 4,700 | 4,200] 3,700, 3,200
7B11B (K) |BABHRUERERS BAZEIT—TORE 58278 (A) 6878 (&) - 3,000 | 2,800 | 2,500/ 2,300 2,000
1H148 (B) |=EREBEXEHE EELRENIRTE 6848 (K) 68178 (A) -| 2,200 - 1,700 -1 1,400
7H188 (K) |BXREHRUVERTEHSE BRUERE 58278 (R) 6A7H (&) -1 3,000 | 2,800 | 2,500| 2,300 2,000
7TH20H (1) |2ERBEHEHS BEERENRE 682108 (A) 68248 (A)| 2,900| 1,900 -1 1,600 -1 1,300
8ATH (K) |R&xwta—HRL— 3> |GTEC(4#%EE)Basic, Advanced | 68248 (B) 68288 (&) 5, 600

98228 (A) |[2EEXaEERHBE |FHRUERE 6A38 (A) 6H148 (&) -1 1,800 -1 1,500 -1 1,300
10A58 (1) |BAEZERERS ERRBREERTE 8H268H (A) 8H318 (%) =15 | 5 500 4,900 3,900
108108 (X) [AXRFERUERERS BAREIV—JTORE 9828 (A) 98138 (&) - 3,000 | 2,800 | 2,500/ 2,300 2,000
108118 (&) |HXRBERUERERHE |[[FHRULERTE 9828 (A) 9A138 (&) -1 3,000 | 2,800 | 2,500| 2,300 2,000
10A198 (1) |BA¥EREmS ERAMFREERTE 88268 (A) 9A6H (®) fhi5 | 4,700 | 4,200] 3,700 3,200
108198 (1) |[=EREBHEHS BEERRARE 9898 (A) 9H248 (k)| 2,900] 1,900 - 1, 600 -1 1,300
108208 (A) [BXREFEREABREHRE BHAREFREARE 9828 (A) 9H6H (&) - - -| 3,500 2,500/ 2,500
11108 (B) |BAEEHEREHRSE WEEERERTE 98238 (A) 98278 (&) - - -| 3,500 3,000/ 2,500
1MA248 (A) |2ERBEHEH= BRARENERTE 108158 () 108248 (X) -1 2,200 -| 1,700 -1 1,400
12858 (K) |HABFRULERERS BAZEI—TORKRE 108218 (A) 11A68 k) -1 3,000, 2,800/ 2,6500[ 2,300 2,000
12878 (1) |2EREHEHS BEERRAIRE 11A58 () 118128 (| 2,900 1,900 -1 1,600 -1 1,300
128128 (K) |BAERVERERE FHRUERT 108218 (A) 11A68 k) -1 3,000, 2,800/ 2,6500[ 2,300 2,000
1H188 (1) |BABERERS EAMEREERTE 118258 (A) 12A68 &) - =15 | 4,700 4,200, 3,700| 3,200
1A198 (A) |ZEEESEERBE |FHRULERTE 108148 (A) 108258 (&) -1 1,800 -1 1,500 -1 1,300
1H258 (1) |BXREZERERS EHAEEBERERTE 12828 (R) 12A68 (&) fth<1g | 5,5000 4,900 3,900
1A268H (A) |BAEERREEHRE BEEEHRHET 128168 (A) 128208 (&) - - -1 3,500 3,000 2,500
2A88 (%) |[BXREFRIAREHE BREFRIARE 12898 (R) 12H138 (&) - - -1 3,500 2,500/ 2,500
28168 (A) [2EREHEH= BILHENRTE 128198 (K) 1H238 (X) -1 2,200 -1 1,700 -1 1,400
2A268 OK) |BARERLEBREHRS BAREBI—TORTE 1H16H (X) 1228 (K) -1 3,000, 2,800 2,6500[ 2,300 2,000
2278 (K) |BAEBRUEREHS |FRUVERTE 1A168H (K) 18228 (k) -1 3,000 2,800/ 2,500[ 2,300 2,000




